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ik = g
i3 A % H
X ga =T T <=1 11" S N - S < 17 FE| |K ga ST =) 5 s w B 17 =
+H +H % +H +H %
S 4 # 626, 099 331, 949 53.0
il 73 33,429, 117 19, 701, 401 58.9| | % | 12,345,811 4,024, 256 32.6
B s #| 46,263,019 15,607,213 33.7
2 A N b N 29, 330, 000 20, 180, 992 68. 8| |#g s #| 13,248,557| 4,176, 982 31.5
57 f#h 2 361, 666 167, 035 46. 2
i OB & O F BB 3, 850, 077 1,738, 591 45, 2| | K OpE ¥ #H| 3,739,034 1,219, 205 32.6
P4 T #| 6,917,250] 3,125,070 45. 2
EH & X W & 20, 765, 549 8, 200, 852 39.5| [T K #| 15,132,752| 5,465,903 36. 1
] 9] b= 4,841, 189 1,722,501 35. 6
I X H 4 7,019, 277 1,191, 440 17.0| |# = #| 13,126,961 4,863, 289 37.0
¢ = H B H 206, 583 95, 888 46. 4
B 1% A 5,947, 191 850, 873 14. 3| |#& D fii| 13,901, 298 1, 049
il & 18, 192, 700 75, 700 0.4
a D fth 12, 176, 308 6, 520, 860 53.6
Tk A = 5 130, 710, 219 58, 460, 709 44, 7| |k 1= | 130, 710, 219| 40, 800, 340 31.2
il = &t
X g
BB g A ¥ 1T R s %H 1T X
= it 44 +H % +H %
7 5 = 2t 7,013, 680 373, 259 5.3 1,115, 886 15.9
g S sk FE S 3, 367, 494 75, 190 2.2 3, 363, 255 99. 9
Vi3 A & = 201, 687 30, 711 15. 2 58, 545 29. 0
il % = &t 883, 400 456, 386 51.7 178, 321 20. 2
E K RS G 35, 027, 507 14, 126, 157 40. 3 14, 644, 721 41.8
+ OB B & 5t 360, 880 118, 796 32.9 10, 860 3.0
Bl fm B R ZE & F 152, 056 25, 037 16.5 19, 194 12. 6
i 2 5L K BR BT e
=5 e = 5t 10, 935 2,671 24. 4 2,013 18. 4
I iE R B & Bt 26,371, 961 10, 990, 382 41.7 10, 525, 775 39.9
jrt VR DK 2 at 376, 597 46, 417 12.3 64,913 17. 2
B+ 2% I 8 Ak & 48
£ 3 = 2 42, 504 69, 151 162.7 4, 950 11.6
% W & i =R S B 4,579, 897 1, 401, 088 30. 6 1,353, 211 29.5
[ AR R =~ I
i i} = it 2,601, 189 435, 206 16. 7 483, 169 18.6
NS B S 3 17, 795, 219 8, 796, 072 49. 4
= 3 98, 785, 006 28, 150, 451 28.5 40, 620, 885 41.1
2. HEDOBIES A MEOBITE S
A % a1l How A MHFES: *x &
— % = F TH| & B & & +H m m TH TH
124, 131, 884 39, 652, 755 81, 262, 994 1, 545, 063 106, 946| 30, 538, 800




